the Muhammadans of Pabna will not take food from thé hands of
a Hindu ; but it is said that those who are of inferior social rank,
and aré undér obligations to Hindus, will take food from them
privately, though they abstain from doing so in public. The
Collector reported in 1873 that class rules are daily becoming
more rigid, and the separation between Hindus and Musalmans
more marked. The last generation of Musalmans were allowed
to eat food touched by a Hindu, but those who now do so are
looked upon as having lost caste. The Muhammadan ministers
of religion, or mullas, are said to be less avdricious than Hindd
priests; but they gladly accept any present offered them by the
cultivators. In most of the villages there are houses for praying,
in which a mulla of priest is employed on a salary of one or two
per month, with au additional allowance for diet. ¢lhe
of the Mulla, and the cost of building and repairing the house of
prayer, are generally met by local subscriptions; but in some villages
the houses are built by individual wealthy residents. The wives of
the Muhammadan peasantry do not work in the fields, but they make
themselves generally useful in the performance of domestic duties.

LAW,
FIRST PAPER—REGULATIONS, &C.

(1) Explain the following terms :—

(a) Lakhiraj tenure. ¢) Istimrari tenure.
(4) Shikami taluk. d) Khas mahal. e
(¢) Jalkar., 7

(2) With what object was Regulation VII of 1822 passed ?
Whls;t gro;rision was there in it for the disposal of waste
nds § ) Tt
«(3) When issuing the proclamation about the pérmanent settle-
ment, what powers did thé Government réserve for safeguarding
the welfare of dependent talukdats and cultivators ?
(4) State the effects attaching to a Collector’s certificate recor-
ded under the Public Demands Recovery Act: :
(5) What is a separate account for the payment of revenue ?
If an estate with one or more separate accounts be liable to sale
for arears of revenue, how is the Collector to proceed ? &%
(6) State exactly what the Collector’s award should embrace
~ under the land Acquisition Act. ¥ 3
If a? claimant objects to the award, what procedure should he

%Govemmt any remedy if dissatisfied with the award
. either of the Court or of the Collector ? R
- A7) Inawarding compensation under the Land Acquisition
Act, what is the point of time to which the market value of the

e i v : > o
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land is referable ? What kind of subsequent damage may be taken
into consideration ? | g

(8) What are the cases in which the Local Government may
without the previous sanction of higher authority direct the prepa-
ration of a record-of-rights by a Revenue Officer in respect of the
lan(zs ;;f wl ue:.hi; 3 . 2

9 at are provisions in the Tenancy Act verning

khamar lands ? ' L !

-

LAW,
SECOND PAPER—CODES,

1. Define * dishonestly, ” *‘ voluntarily, ” * good-faith, "
¢ wrongful loss. ”

2. Define * mischief ” and state the avated forms of mis-
chief for which distinct penalties are presc‘r?gd in the Code.

Give an instance showing how mischief may be committed by a
person in respect of property belonging to himself and in his own
possession.

3. In each of the following instances has Z committed any,.
and if so, what offence ? Name or describe the offence ? or give
the section of the Code or the penalty prescribed :—

(a) Z with six others assembled at midnight with the object
of committing house robbery, but being unable to -
cross a river, the assembly dispersed without accom-

lishing their object.

() 2’s father, intending to commit robbery, attacks and
murders a traveller. Zarrives on the spot after the

: murder, and joins his father in stripping the dead
body of all valuable articles.

£) Z, a landholder, is informed that the manager of his-
estate is assembling armed men to take forcible
possession of a disputed chur. Z takes no action,
and a riot takes place on the chur. b

(d) Z appears in a drunken state in the public street and
conducts himself in such a manner as to cause
annoyance to passers-by.

4. Note briefly the principal points of difference in procedure
in the trial of summons and warrant cases.

5. When a person on whom a conditional order to remove
a nuisance has been served does not either comply = with the order
or appear to show cause or apply for the appointment of a jury,,
what successive steps should tge Magistrate adopt with a view to
enforce his order ? : y

6. Is a Magistrate authorised under the Code of Criminal

Procedure to warn and discharge an offender ? Under what cir-
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comstanoes may the: Court refrain from passing sentence: on an
offender, and (:'::It! procedum he adol;:v? - v

7+ 'State (without exp! i ~law- of “»es judicata as
defined in!the-Code of Civil Propedure:: " -

8.  What-procedure should:the Coust follow:ifionithe  first - day
fixed for the hearing of a suit—(2) the plaintiff- appears and the

“does not appear.

9. What goods and chattels belonging to a judgment-debtor
are exem&f' from attachment and sale in execntion of a decree ?

10. hen is 3 confession made by an accused person irrelevant
in a criminal proceeding ? :

11. State succinctly the principal exceptions to the rule that
hearsay evidence is inadmissible or that oral evidence must be direct,

12. - What.do you understand. by privileged commpnigations ?
‘Give two instances of such communications.

SURVEYING AND MENSURATION,

1. In usinga chainwhat arethe pointsto be attended: to. in-
order to obtain accurate measurements ?

What:isia:Gunter’s chain,? - If:a Gunteris.cheinibethree  inches
too Jang; how:would the area of:a survey be effected 2

2. In mﬁuachin-lim;h; mld\)a'an :dd s:iha : ‘
obstagles.and pick up your original chainage and direction correctly
after passing xgm h—

{a) A grounpeftwo orthree hutsiover which you cannog
see,
{(#) A .smalltank.onan open maidan.
© 3. *Whatdo:yowunderstand by a % Cadastral Survev "2
‘How are. such surveys usnally.conducted:?

4. Give a specimen page.of field:book showingchow you would
enter two-successive:lines.of a - prismatic compass survey alang a
road with offsets to ditch and fence oneither side:

|Neatness is all-important in apswering abave question. ]
5. In deseribing.a theodolitestraverse, itiis) usual to take the
magnetic bearing of the first line. How:is this dene?
‘How would you determine the true north.
. 6. What is the acreage of a rectangular field whose sides are
503 and 123 yards:? ? i
‘ Express your result also in standard i land measure.

7. A B Cisa triangular field ; A C is 738 links Jong, and

;u&endie\ilu'ﬁém-ﬂsen thf is{;ﬁs-guh. ‘The ﬁei:hswlwwly

or 412 an acre ; expressthe ren rupees £ 1==15 rupees,
Uhabix 'fmnbovem‘ﬁnks‘bfwcwmj 4 ;
8. What is a plane table and how is it used ?
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FOURTH GRADE ACCOUNTANT-SHIP
" EXAMINATION PAPERS. T

JUNE 1888,

I.—Arithmetic.
Time allowed—4 kours.

1. Simplify ;= VXX . 04 reduce the following

T x
. : . L155 140,971
fractions to their lowest terms : 168’ TR

2. Find the value of 0426 of Rs, 120-4-9; express as

fractions in the lowest terms ‘19 of %, and ‘37 of §.

3. A debtor pays 3 aunas 4 pies 1n the Rupee. What per-

centage of his debt does he pay ? If' his total debts amounted
“to Rs. 16,284-8-0, how much would he still owe ?

4. A certain kind of cloth costs in Eugland 93d. a yard.
1f the cost of freight is 3s. for 72 yds. and the rate of exchange
1s. 43d. per Rupee, at what rate per yard must the cloth be sold
in India, so as to yield a profit of 10 per cent ?

5. If the Rupee is worth ls. 43d., and 2562 Francs=1
Egghi;h Sovereign, how many Fraucs will you get for Rs.

1
: 6. If atrain 200, yds. long pass a fixed object in 10
seconds, at what rate per hour is the train moving ? ;
7. A can do a piece of work in 11 days, and B can do it
in‘lj‘d'n How long would they take to do it together ¢
. The wages of one man, one woman and three children
amount to 30 Rupees a week. The man and oune child earn to-
gether four times as much as the woman. The man and three
children earn five times as much as the woman, Find the “
wages of each, ey '
9, A tea-dealer has teas worth Rs, 2-4-0 and Rs. 1-8-0 a
nd respectively, which he mixes, taking two pounds of the °
mar to one pound of the latter, and sells the mixtare at
Rs. 2-0-0 a pound. What does hoogtin or lose percent ?
. 10, A person sells Rs. 10,000 of 4} per cent. Gort. Paper
at 106, and invests in Shares paying 8 per cent. What must he:
pay for them 80 as to be neither a gainer nor loser ? ;
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11. 4 and B were partners for ‘12 months. 4 advanced
Rs. 400 for the first three months, and then Rs. 750 more. B
advandad | Rs. 500 for the first five months, and thén RS. 450
more. They gained Rs. 1,020 : What should each receive ?

12. A lawn 400 ft.' x 120 ft. has to be raised 2ft. Cost of
raising earth is Rs 5 per 1000 cubic feet ; cost of turfing 10
annas a hundred squaro feet. Calculate expenditure, adding 5
per cent. for supervision.

13. Find by Practice the value of 2 tons 12 cwts. 3 qrs.
7ihs. at £3-17-6% a ton, s
14. A and B renta field for £60. A pats in 10 Horses for
1} wonths, 30 Oxeu for 2 months and 100 sheep for 3} months.
B puts in.20 Horses for 1.mouth, 40 Oxen for 14 months, .and
200 Sheep for 4 months. If the food consumed in the same
time by a Horse, an Ox, and a sheep be in the proportion of
3, 2 and 1, find the portion of the rent of the field which each
must pay.

II.—Mensuration.
Time allowed—2 hours.

1. The length of the Chord of an Arcis 504 feet, and the.
Chor;i of half the Arcis 30 feet ; what is the length of the -
Avc P f teas End ¥

" { 2./ The diameter of a wheel is 28 inchies ; find how many,
Yevolutions the wheel makes in travelling half a mile. 2y
[ 1 8. How many Square Yards of canvas will be required
/to make a conical tent, the radius of its base being 6 Feet, and
altitude 10 Feet ? Nt

. (! 4 How many Acres are there in a four-sided field,” one
diagonal measuring 950 yards, and the perpendiculars on it from.
the other two angles being 135 and 210 yards respectively ?

5. 1f a pressure of 15ibs. per square inch be applied to a
circular plate 3 feet in diameter, what is the total pressure in
tans, cwts., qrs., and ibs ? i

~ +4 6. A Prism is 6 inches high, and the sides of its triangu-
lar base are 2, 3, and 4 inches ; find its volume in cubic inches,
7. A cubical box, 1 inch in the side, internal measure-
meot, is filled with water, and 8 equal spheres, 4 inch in
diameter, are placed in it ; how many cabic inches of water will.
remain in the box? . Tl
. 8. 'The diameter of a sphere is 18 feet . this
Cad d into two segments, one of which is twice as
S and 638 votumorof Shoh i :ve1 0o
JAEOL e b L gl

-
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1889) - QUEST 10NS ON ARITHMETIC, A3

. IIL.—Book-keeping.® = .«

“Time allowed—3 hours, ook

1. Whatis book-keeping ? Exg}lam the differences betvqu-
book-keeping by Single Entry and by Double Entry.

2, Explain the use of the Cash book. What is the nature
of the 1tems that should appear on the Debtor and on the

“Creditor sides : What should the balance represent ; on which
side should it always fall and why ?

3. Name the principal books used by a merchant who
keeps his books by Double Entry.

4. Which of the books generally used i in Double Entry is
not used in Single Entry, and why is it not used ? e

5. Explain the use of the Ledger.

6. What is meant by posting the Ledger.

. 7. . What is the first entry a merchant should make in his
books on starting business ?

8. Explain the termn “Balance.” What is meant by balan-
(&mg the Ledger, and what are the objects with which this is

one ?

9. The tolal of the entries on the Debtor side of a Profit
and Loss account is greater than the total of those on the
Creditor side : What does the difference represent, and what
do the entries on each side of the account represent ? .

10. A tradesman, 4 sells goods to B to the value of Rs.
2,000, B pays 4 Rs, 1,000 in cash, and also gives him a bill on
dfor Rs. 1000.  What entries would 4 and B make in their
books ? If the bill is dishonoured when due, are any further
entries then necessary, if so, name them and state how the ac-
counts of 4 and C should stand in B’s books in respect to these
t.ranchtxons.

1889,
I.— Arithmetic,

Txme allowed-—4 hours, oot 67 L g
1 Slm lify
-‘-(H of 6§ §)+i x 144 (74-1); and rec;nce the follow-
526

6,068
in" fmﬁﬂ\l to their Iévut terms :— 653 18,018
9. Extract the Square Root of 290,521 ; and the ,,wap

. 3 Find thev mof 1osous-s-4md £ .m,
“,mﬁmo. ‘ "4 ; “,‘_"
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4. Find by Practice the value of 4 Tons 3 cwts. 2 qrs, 16
Ths. at £ 1-6-63 a ton.

5. If silver, of which 222 parts in 240 are pure silver is
worth 42d. an Ounce, what is the value of a Rupee whose fine-
ness is 979 partsin a thousand, and whose weight is 7dwt. 12grs ¢

6. If 3rd of a Sheep is worth 4 Rupees, and #th of a
Bheep is worth 5%sth of a Horse, what will it cost to provide
a regiment with 800 Horses ?

7. TFind the difference between the Simple and Compound
interest of Rs. 256 in 3 years at 4} per cent.

8. Four merchants, 4, B, ' and D, trade together. A’s
stock of Rs. 3,000 was in trade for 12 months ; B’s stock of Rs.
3,300 for 10 months ; C’s of Rs. 3,750 for 8 months ; and D’s of
Rs. 3,950 for 6 months. If the whole gain was Rs. 7,230, how
much ought each to receive 7

9. A tradesman adds 32 per cent. to the cost price of his
goods, and gives his custemers a reduction of 10 per cent ; what
profit does he make ? :

10. If 7 horses and 5 oxen eat up the grass of an enclosure
in 74 days, in what time could 5 horses and 7 oxen eat up the
grass of the enclosure ?

11. At 6} per cent. for what sum should geods be insured
which are worth Rs. 3,875 in order that in case of loss the
‘owner may recover their value together with the preminm paid ?

12. Explain the distinction between True Discount and
Banker’s Discount. Does the creditor or the debtor gain by
computing interest instead of discount ?

13. A person invests Rs. 22,000 in 4 per cent. Government
Paper at 98}, and sells out at 99. He then buys 4} per cent,
Paper at 103}. 'What is the difference in his annual income ?

14. A goods train leaves the Howrah Station 14 hours be-
fore the mail train. If the goods train travels at 20 miles an
hour, and the mail train at 35, at what distance from Howrah
will the mail overtake the goods train ; and how many hours
before the mail should the goods train start, se that the one
should overtake the other 1,000 miles from Howrah 2

II. - Mensuration,
Time allowed—2 hours. :
1 Find the Area in square feet of an equilateral triangle,
whose side is 36 feet. it
2. How many square yards are there in a trapezium
whose diagonal measures 126 feet, 3 inches, and per ars
585 feet, and 6575 feet 1 * F e

w
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8. What is the Area of a segment, greater than a semi-
circle, whose chord is 30 feet, and height 20 feet ?

"4, The inner diameter of a circular building is 73:25 feet,
and the thickness of the wall 21 inches ; how many square feet
of ground does the wall occupy ?

5. From a timber plank, 16 inches breadth, 6 square feet
are to be sawn off ; at what distance from the eud must the cut
be made ?

6. The annual rent of a triangular field is £43-15 its base
measures 25, and perpendicular 14 chains : What is it let for
per acre ? One Chain =66 feet.

7. The altitude of a cylinder is 20 inches, and its diameter
10 inches: What is the altitude of. another cylinder, whose
volume is twice as much, its diameter being 30 inches ?

8. How many bnck«, each 8 inches by 4 inches, by 3
nllchle:s, will build a wall, 200 feet long, 10 feet high, and 1 foot
thick ?

9. A leaden pipe 12 feet long weighs 100ibs. ; find the
thickness of the lead, the internal diameter being 2, inches.
Specific gravity of Tead = 1132.

10. If a balloon is composed of 1,000 yards of silk, §th of
a yard wide, what is its diameter, supposing it to be a perfect,
' sphere ! Answer in yards.
M
4

ITI.— Book-keeping. i

Time allowed—3 hours,

1. Explain the (following terms :— Assets, Liabiliiies‘;
Qapital, Dividend.

9, State the heads under which the property of persons
in business is composed.
3. What is Book Keeping by Single Entry, and for ‘mhat
descnptwns of business is it generally used ?
4. What are the advantages of Double Entry over Smgle :
Entry ?
5. Detail the principal books used in Book- Keepmg by
Double Entry.
6. Explain the use of the Day-book, and the TInvoice-Book.
% 7. What is meant by dxscouutmg a bill, retlrmg 9.L b&l[ ‘
- and protesting a bill. s
@ How should the followin Acooan be clmeda-b*l‘w
. Expences. Discount, Profit and Loss. Merchandise.
L

ALy
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9. Describe the process of balancing und closing a set of
books kept by Double Entry.

10, What is the difference between ‘“Personal” amnd ;.
personal” accounts ?

1890.
I.—Arithmetic.

Time allowed—4 hours.

DRI, Lk 5 o
| “ 1. (a) Simplify :— - :
(b) What is the highest number that will exactly divide
385 and 495 ?

2. (4) Reduce £2-6-4% to the decimal of £9.

‘63 , 99
(b) Add :— 6 —to 36
3. By practice find the value of 12 Acres, 1 Rood, 17
Poles, at £2-3 the Acre.
4. A wman can copy a letter containing 50 hnes, 14 times
in 3 hours ; how long will he take to make 16 copies of another
’u outaining 36 lines ?
- ./K Divide Rs. 30 among 9 men, 3 women, and 14 chlldlen
31 so that each man gets Rs. 1- 8 more than a woman, and each
4y woman Re. 1 more than twice as much as a child.
" 6. 90 per cent. of a school pass in spelling, and 85 per-
cent. in arithmetic, 174 pass in both sabjects, and no child fails
m‘: 9 in both. How many are there in the s(.{'mol ?
E % 7. Find the difference between the Simple and Compound
i interest on Rs. 2,000 for 2 years at 6} per cent.
I 8 PFind the present worth of the following bill :—For
£119 drawn on April 16th at 6 months, discounted May 26th at
5 per cent. per annum,
9. Determine the rate per cent, paid by some stock—
(@) When a holder of £3,720 receives £139-10 income,
(by When an income of £46-4is obtained by inventiag
£924 at 105.
10. Find fo 3 dec)mal places the Square Root of '00099
Find the Cnbe Root of
‘11, Selling out Stock from the 5 per cent. at 108 and in.
vesting the proceeds in the 4 per cent. at 96, a wan obtains an
. ueam of £162. What was hisincome before tho transfer? -

>

ST
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Pl

12. . A and'B can separately finish nglﬁ:_work in 4% hours
r do it in 14fy hours,
How will € take to do it alone ? ML i
13. hen will the hands of a clock be at right angles to
one another ? ' ! L
(a) Between-4 and 5.
(b) Between 10 and 11.
s (c) Between 1 and 2. 7

14. If51bs of tea can be exchanged for 8ibs. of coffee, 21bs.
of coffee for 15 tbs. of sugar, 7 1bs. of sugar for 12 eggs, how

~many eggs will be given in exchange for 14 Ibs. of tea ?

<15. A man hired himself out on the following conditions: —

For every day he worked he was to receive Re. 1-4, but for -

each day he remained idle, he was to get no pay, and forfeit 10 «
annas. After 40 days’ service he had to receive Rs. 27-8,; how
many days did he work.

16. Find the value in Rupees and decimals of 0303 of Rs,
41-6-3 + 0'526 of £111-7-9. The value of a Rupee being 1s. 44d.

II.—Mensuration.

Time allowed—2 hours,
1. 3circles are drawn with centres at angular points of

an equilateral traingle, so as to touch each other. Find the area .

included between them, the side of the triangle being 10 feet.

"~ 2. A circle is divided into 2 segments by a chord subtend-
ing an angle of 90 degrees at the centre : what ratio exists
between the areas of the segments ?

3. The Chord of an Arc is 40 feet, and the Chord of half
this Arc is 26 feet. Find the side of the greatest square which
can be inscribed in this segment.

4. A trapezoid, the parallel sides of which are as 3 : 4, is
to be cut from a rectangular board 12 feet long and 2 feet wide.
Find the lengths of the parallel sides, in feet and inches, so
that the area of the trapezoid may be one-third of the board.
5. How many pounds of water will be contained in a
hollow sphere, 12 inches in internal diameter ? :

6. seribe the French System of measures called the
Metric System.

Define :—Metre, Litre and Gramme,

b 7. Determine the excess of 15 feet square over 15 square
t.

. " 8, The volume of a Cube is 5 cubic feet, 621 cubic inclmvl'.x

Find the length of the Cube in inches,

.

"
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III.—Book-keeping.

Time allowed—3 hours. .
¢ 1.~ Under what heéads the property of persons in busi-
ness be comprised ?
2. Name the most important books used in Book-keeping.
3. Describe the Day-book and Invoice book, giving brief
examples.
. 4, 'What advantages has Book-keeping by Double Entry
over Book-keeping by Single Entry, 3
: 5. A receives from O a bill accepted by B for goods sold
and places the bill to C’s credit. The bill is dishonoured when
due. How would the account appearin A’s ledger ?
«(1 6. State in the form of an account between X and ¥ the
following transactions :— 3
X receives from ¥ a consignment of goods of the value of
Rs. 10,000 for-sale, on the understanding that he shall be al-
lowed 5 per cent. on the amount of all sales, and also -his
expenses. X sells goods to the amount of Rs. 9,000, on which
his expenses are Rs. 150, and returns ¥ goods to the value of
Rs. 1,000,

1891.
Arithmetic.

Time allowed—4 hours.
1. Simplify the expressions :—
@ o= -b)
1-3{1-4(1-1)}
o bxirixi-1d-p
tE-H-4d-4
2. The imperial gallon contains 277274 cubic inches, and

one hundred litres contain 6102:379 cubic inches, determine the
value of the litre in terms of the gquart. ‘

3. A ditch can be filled by one sluice alone in 12 hours
and by another in 15 hours ; in what time will it be filled if
both are open together ? . Rl R R

4. Divide ‘00475 by 000237 to four places of decimals ;
algo find the value of ‘27 of § of a shilling, and *23 of a £.
- 5. Extract the square root of 1:3716, and the cube root of
5000211, 3 & R R RS o

.
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6. A father left $ths of his property to ono son and f of

i ﬁof § of the remainder to a second, and the rest to a third.

e difference between the shares of the second and third was
£1200. What was the share of each ? :
7. Divide £16,815 among three persons 4, B & €, so that

A’s share shall be to B’s share as 3:7, and B's to (s as 6:5.

8. A man borrows the money to build a house at 6
per cent, interest and before doing so agrees to let the house
when built for Rs. 20 a month ; the owner to pay the taxes,
which amounts to Rs. 3 a month. If the house cost Rs, 1,800
“to build what is the annual profit percent #

9. A person possesses Rs. 30,000 worth of Govt. 4% per
cent Paper. He wishes to convert it into sterling, and can
do so either by selling in India and remitting to England, or
by purchasing enfaced Rupee-paper. If Rs. 100 worth of paper
is quoted at Rs. 102-2, and the rate of exchange is 1s.-43d. ; also
if enfaced Rupee-paper is £75§ for Rs. 1,000 worth of Govern-
ment Paper, which would be the more profitable transaction ?

10.+ If the cost of constructing a railway is three million
pounds sterling—one-third of which was money borrowed on
mortgage at 5 per cent., and the remaining two-thirds held in
shares ; what must be the average weekly receipts, so as to pa
the share-holders 6 per cent., the working expenses of the rail-
way being 45 per cent. of the gross receipts.

11. A hare starts 40 yards from a grey hound, and is not
perceived until she has been going for 40 seconds. If she goes:
at the rate of 10 miles an hour, and the dog, after viewing her
follows at 18 miles an hour, what time will elapse before the
dog catches the hare,and what distance will be run by the dog ?

12, Find by practice the value of 1 Ton. 5 Cwt. 1 qr, 12ibs,
at £1-6-10a Ton.

13. What is the Simple Interest on Rs. 18,467-10-6 at 4}
per cent. for eight years ¢

14. Find the Compound Interest on £286-7-6 for 2} years
at 4 per cent.

15. At noon on the 3rd of January, my watoh is 10
minutes, 41 seconds too slow ; at the same hour on the 14th Fe-

- bruary it is found to be 8 minutes, 19 second too fast : what is
- itsdaily rate of gaining, and what was the correct time on the 18
~ th January, when my watch showed 3 Hours 20 Minutes P. M. §.

16. How much must I pay for insuring a vessel for Rs.

~ 38,000, if the insurance rate is 2} per cent., and brokerage 4
. pie- in every rupee paid as premium \ LA

bR A

o
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II.—Mensuration.
Time allowed—2 hours.

1. A metre is 39 37 inches ; find the number of cubic fee
in a Cube, whose side is one metre, ;
© 2 The height of a right circular cylinder is 4 feet; find
the height of a similar cylinder of 9 times the volume.

3. A square pole 2 inches wide is cut through a solid
eylinder, of which the radius is /2 inches, so that the axis of
the pole cuts at right angles the axis of the cylinder; how
many cubic inches of the material is cut away ? X

4. The weights of two globes are as 9 to 25 ; the weights
of a cubic inch of the substances eomposing them are as 15 to
D : compare the diameters of the globes.

5. Find the side of an equilateral triangle inscribed in
a circle, whose radius is one foot.

6. The bottom of a tank is a square whose area is an
acre, it is ten feet deep, and the slope of its sides is 15 horizon-
tal to 1 vertical : How many cubic feet of water will it hold ?

7. How much of the earth’s surface could be seen by a

person raised };th part of the diameter above it ?

8. The area of the base of a frustum of a regular hexa-
gonal pyramid is double the area of the top, the perimeter of

the top is 6 feet, and the slant height 9 feet ; find the area of
‘the whole surface iu square feet. _ -

R

ITI.—Book-keeping.

Time allowed—4 hours.

y 1. What is the difference between “Personal” and “Real”
accounts ?
2, What isa “Trial balance” ? i 7
: 3. - What is a Stock-book ? Give a description of it and
‘gtate its uses, R
- ‘4, On the blank forms given post a Cash-book and ledger,
Single Eutry, (J. Brown and Goods-General Account,) from the
nsactions given— Fix e e
" ransactions of T. Smith :— :
1st January 1891. Cash in band ... = ...
¥ SSRGS ot 3001 2 :
" s Goods sold for

T e X “Nhes
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3rd J'amury 1891, Goods sold for cash ... ' [, % 50O

e pos Paid to J. Brown: e eon B e 50

B e Paid trade expenses—Postage Btamp! .

- s Sold goods to J. Brown ... .. .. 150

" 2 . Paid trade expenses—Salaries - ,.;. 200
4th » . Received from J. Brown ... we 176
Bth. - e ¥ Bought goods of J. Brown R A
7th Joih Bought goods for cash .., e 300
8th - Yy Bought goods of J. Brwon w200
9th ,, Sold goods to J. Brown for cash ... 1,000
I1th . 5 Paid into Bank S che L AE OO0
13th s Paid trade expenses—Salaries . .., 100

= o Ditto —Rent 150
o " Ditto —Taxes ‘oo 25
14th A Advanced to clerk for petty expenses 5
15th i Drawn from Bank for private expenses 100
16th . ¥ Paid cash for repairs to business premises 200
17th % My acceptance of J. Brown’s draft

due this day, paid by cheque W e 200

18th Foy Sold goods for cash Loy - GG
20th 3 Bought goods for cash -+ ws 1,000
23rd iy Paid cash for shop furniture B 100
24th he Sold goods to J. Brown ... i 100 .
26th il Received from J. Brown .., o 200
Ly o Discount allowed e |4
98th i Draw from bank for prxvate expenses 50
31st 5 Paid into Bank T 500 .

= £ (Goods in hand at end of January, as ...

per stock-book o 2171-4

5. When a merchant meets a draft accepted by him,which
of his books are affected ?

6. Explain the meaning of the following terms ;— '

Discount, Profit. Balance of an Account. Bill of Ladmg, :
Account Sale. Letter of Credit.

: 1892
1.— Arithmetic.
Time allowed—4 hours,

1. Simplify :— X EEE
L 2F of (3= i)

o« (et St i
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2,  Find the value of :—
rh | . RN P e el Gy
@ gttt atatar
=R 354
p 5% V10 | 17- V20
0 “S5=Vio 16+ v¥0 .
3. Substract the least of the following fractions :—
% v T 1o from the greatest, and the sum of the two least
from the sum of the two greatest, and find the difference of

these two differences.
4, Find the Square root and Cube root of 12 to four places

of decimals.
5. Find the L. C. M. and G. C. M. of 98766 and ‘285138,
6. A metre is one-ten millionth part of a quadrant of the
earth’s swface. Find in miles the length of a meridian drawn
from the North to the South Pole. 1 metre=39'3708 inches.

7. What is the value of .45 of “1 1 of 3s.—7}d. ? Re-
duce it to the decimal of £1,
8, TFind by Practice the value of 15 tons 13 cwt. 37ibs. at
Rs, 9-9-6 per ton.
9. A contractor agrees to do a piece of work for Rs. 2,000
in 5 days, subject to a fine of Rs. 100 for every day or part of a
* day after the fth on which the work is not finished, He en-
gages 30 men and after three da%; £ of the work is done. He
then engages 10 extra men. hen will the work be finished
and how much will he receive ? ;
10. What will be the cost of remitting to England £134-16.5
the rate of exchange being 1s. 34d., and the charges  per cent ?
11. Find the Compound interest on £525-15-6 @ 4§ per
cent. for 4 years.
12. The Receipts of a Company are divided as follows :—
Guaranteed Dividend on § of Capital 5 per cent. Reserve
Fand 10 per cent. Working expenses 48 per cent. The remain-
der £48,000 is divided as a 4 per cent. dividend among the
other holders of stock. Find the Receipts and the Capital.
13. A man has Rs. 6,000 ; one-fourth he invests on 4}
. per cent. Municipal Debentures at Rs. 107-8 ; one-fourth in a
. mortgage at 5} per cent. . oue-fourth in 4 per cent. Government
 Paper at Rs. 108-14, and one-fourth he leaves at deposit in &
Bank at l& per cent. What is his income, income-tax being
5 pies in the Rupee ? WG 53
“14. A workman was engaged for one year at 30s. a week.
During 13 weeks he did no work, during 6 weeks he worked
~ half time, and during 3 weeks he worked only 2 days per week.,
' How much did he earn during the whole year ? = ‘
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o 11— Mensuration.
[ Time allowed —2 hours, ]

; L The section of a canal is 32 feet wide at top, 11- !eet
‘wide at bottom, and 8 feet deep. How many cubic yards were
‘excavated in a mile of & canal ? Also if the surface of the water
‘be 26 feet wide, what is its depth ?
© 72, A log of oak is 15 feet long, 18 inches broad and 12
inches thick ; at what distance from one end must the log be
‘cut that the smaller portion may weigh 4 cwt, supposing one’
‘ton of oak to contain 36025 cwt.

- 3. A square pyramid is 12 feet high, and the sides of tbe
base are 3 feet ; find its volume. At what distance from the
vertex would a "horizontal plane bisect the solid ?

4 A trough is 18 feet long, 2 feet wide at top, 1 foot wide
at bottom, and 1 foot deep. How many gallons will it contain
when full, and how many inches will the water sink if 120
gallons be withdrawn ?

5. Find the number of cubic feet in a log, the ends of
which are rectangles, the sides of the greater being' 16 and 12
inches, and the corresponding sides of the other, 10 and 18
inches, the length being 40 feet.

6. Find the area of a regular octagon, whose side is 10 feet

7. Three men have equal shares in a grind stone, 4 feet in
dlameter, and they agree not to grind down more than one foot
in ull What fmrts of the diameter may each grind down ?

8. low ‘iron sphere, 8 inches external diam ter,
wexghs half as much as a solid sphere of the same didme ter 3
What is the thickness of the metal in inches ? :

III. -—Book-keeping'

[ Tlme allowed—4 hours. ]

1, ‘Whatisan Aocount-Current? Descan.the Day-book
and Invoice-book. = ¥
s i Dnstmgmsll:ebetween If)e;nlt and Credit, ] :

© °3, Describe t process 0 amcmqaudcosm a .et

booh.by Double Entry, e “
‘4. Transactions of W. W:llxama. »’::
~ Post the following transactions by Single Entry into W. '

)k, Invoice-book, Cash book Bank acconnt andGood-mgth
; T m.i’ B

\"s

Ay A [t Ty AR

4

‘i_-‘n
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and compare W. William’s position at the end of the raonth
with his position at the beginning of the month :—
W. WILLIAMS.

1st January 1892, Cash in hand s we Re: 2004
Cash in Bank AR 5 0L
Due from J. Brown Voo 500
Due to T. Smith .., iy 700
Goods in stock ... sy TR JO08

Detail of stock in hand. ,

500 yards A. cloth at Rs. 2 per yard .., e 8013000
10 dozens A. whisky at Rs.50 per doz..... Tl 500
10 do. A. Claret at Rs. 25 per doz. ... deoin 9250
5 do. Port at Rs. 50 per doz. i 250
ToraL Rs. 2,000

Transactions of month.
1st Jany., { Bought 50 yards C. Cloth at Rs. 1-8
from E. and Co. oo BRes 75
s Bought 5 dozens B, Whisky at Rs, 40,

from E. and Co. i 200

Rad Sold for Cash, 4 dozs. A. Claret at Rs.27 , 108
Sent to Bauk ... s o 108
ord ) Paid trade expenses by Cheque— : o
Rent ... Rs, 150
Taxes ava il Y
T 210
dthi g, Paid trade expenses —Cash—salaries ... |, 190
Bth 5 Drew from Bauk for personal expenses ,, 100
Gth % Sold A. & Co. 4 dozs. A. Claret at Rs.27 108
th  ,,  Sold for Cash 5 dozs. Port at Rs. 51 ... ,, -~ 255
el Bought 7 dozens B, Claret at Rs. 24, = -
from E. and Co, Vil 168
oth - ., Bought 7 dozens B. Claret at Rs. 24,
from E. and Co. % o 168

9th ,,  Bought 5 dozens C. whisky at Rs. 36,
] . from E. and Co.
10th ,, Scﬁd for Cash 5 dozs A. whisky at Rs.52
11th o, Bought 150 yards B. Cloth at ‘Rs. 1-12,

from E. and Co. LR el
12th ,,  Paid trade expenses— :
Stamp ... v Re. 10
A S Petty ., B

SNl : PR
‘13th ,,  Paid trade expenses—furniture ‘

 1dth ,,  Faid E.and Co. by cheque
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W, Williams,—(Concluded.)
Dransactions of month—(Concluded.)

» 15th January, J. Brown paid me cash .., ... Re, 500
- 16th  ,,  Bonght 50 yds. A, cloth for cash at Re.2,, 100
Jih ey Sent to Bank R |

18th  ,,  Paid T. Smith on account by cheque ,, ~ 350

19th-  ,,  Sold 500 yds. A cloth for cash at Rs.2-2 ,, 1,062-8
' 20th: Paid T. Smith balance of account in cash,, 350
v 2lst % Sent to Bank .

. 600
22ud  ,;  Drew from Bank for personal expenses :: 100
23rd ,, Paid trade expenses, petty v gy 10
25th 5 A. and Co. paid me in cash AR 108

5. What is meant by discounting a bill, honouring it,
taking it up, retiring it, endorsing it, and protesting it ?

6. Define :—
Commission, Dividend, Power-of-attorney, invoice,
_ Capital, Exchange.
18903,
i I1.— Arithmetic.

[Time allowed—4 hours.]
1. Simpli

fy :— ¢
(%+§‘;0f‘§+-§)+(§té) of 3+H+F+Hof 3+
Yof G+a+)+iof G+5+D) 3

2. Find to five places of decimals the value of—

1 1 1 1
Ix2t Tx2x8 Tixox3xd Tx2x3x4x5

3. Calculate the value.to four decimal places of—

v vi3+3

V13-3 £

4. Find the value of 345 of 9s. 2d. + § of ‘075 of £1Q+ 05

of 1'125 of £1-13-4, and express the result as a decimal of £50
- 5. Find by Practice the value of 175 tons 13 cwts, 57ibs.
at £13-7-5 per ton. o4 { P S Ay
E 6. Given that the ratio of the circumference of a circle to
| its diameter is 31416, find the distance moved over in 3 hours
. by a point on the rim of a fly-wheel, of ¢ feet radius, which

rns round 35 times a minute, Express your anwswer in miles

1+14
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7. A square garden, whose side is 1,824 feet, has a bed all
round it, 8 feet 6 inches wide. In the centrethere is a square
bed eontaining 1,825 square feet, and 4 circular beds, each of 14
feet diameter,  T'he rest is to be covered with turf. Find the
cost of laying down the turf at 10d. per square yard.

8. A bill for £23-13-7 has to be paid in England by a
remittance from India, when exchange is at s 225d. What sum
in Indian money must be remitted, allowing 1 per cent. for
commission ? ;

.. 9. TFind the difference between the simple and eomponnd
interest on £2,718-15 for 2 years at 3 per cent. -

. 10. The capital of a company consisted of £5,00,000. The
working expenses for the first year amounted to £22,916-13-4,
and the whole of the profit was divided in dividends. Next
year the working expénses diminished by §, and the gross
receipts inereased by £, and a dividend of 5% per eent. was paid.
‘What was the dividend in the fivst year ?

11. What would be the difference in income obtained by .

investing Rs. 12,345 in 4 per cent.- Government Paper at Rs.

104-2 and in 4} per cent. Municipal debentures at Rs. 106-8 ?
12. A merchant mixes two qualities of tea in the proportion

of two paxts of the cheaper to oue part of the deaver, and gains

a profit of 25 per cent. by selling the mixture at 2s. 11d. per Ih
* By mixing them in the proportion of 3 parts of the cheaper to 2 |

parts of the dearer, and selling the mixture at 3s. per Ib. he
gains the same rate of profit. Find the prices he paid for the
iwo qualities.

13. 4. B. €. ave three pipes to a tank. 4. can fill it in two
hours, B.in 4 hours, and €. can empty it in 13 hours, 4. is
opened at mid-day, B. at I py, and ¢ at 1-30 ., How much
water will be in the tank at 2-30 ».m. ?

II. —Mensuration.
[ Time allowed—2 hours. ]

1. The parallel sides of a trapezoidal field, the area of
which is 30 acres, are 12 and 18 chains respectively, Find the
'wp?ldiwlnr distance between these sides: B

itsarea.

3. What must be the diameter of a cmmg?wiebl, in
es ? e

X,ﬁlﬁel’ that it may make 1,000 revolutions in 2 mil
% e

e o

4. Fiud the area in square feet of the segment of a circle,
- whose height is one-half of the radius, when the radius of the ¢
. circleds 1 foot. . o S e i of S :

The sides of a triangle are 2+ V2,2~ &’_ﬂ;‘l?;df 3, ﬁﬂ@ /

o

¥
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12, A contractor has to finish a piece of earth work in 13
days, and he finds that 50 coolies can do it in that time working
8 hours a day. The whole 50 work for four days when 12 leave.
The remainder work for other four days, doing two hours
overtime daily. How many extra coolies must he then employ
to finish the work in time, working 8 hours per day ? A7 i

13. A watch which goes 3 seconds too fast in 24 hours; is
set right at 3 3. while another which goes two seconds too
slow in 24 hours, reads 8-15.  When will they indicate the same
time, what will that time be ? .

II.—Mensuration.

[Time allowed—two hours.]

1. Find the side of a regular hexagon the area of which
is half an acre.

. 2. How much will the turfing of a round plot cost at 2
annas a square yard, if it be 130 feet round ? ;

3. Thesides of a trapezium are 300, 400, 220 and 350
yards and the angle contained by the first two is a right angle ;
tind the area in acres and decimals.

.4, Find the length of the minute hand of a dial, the extre-
mity of which moves over an arc of five inches in 3} minutes,

5. "A ship’s hold is 102 ft long, 40 ft. broad and 5 ft. deep ;
how many bales of goods each 3}ft. long, 2} ft. broad, and 24ft.
deep, can be stowed into it, leaving a gangway of 4 ft. broad,

6. Find the whole area, and the volume of a triangular
prramid, each side of the base being 5% ft. and the perpendi-
cular height 30 ft. Mot |

7. If a cubicfoot of iron weighs 450 1bs, what is the
diameter of an iron ball which weighs 200 1bs, ? : e

8. A cylindrical poutoou with hemispherical ends is myfa i
of } inch plate iron. Its internal diameter is 4 ft. and extreme
length 14 ft, Find its weight if a cubic foot of iron weighs 4807t

7’

————

s IIL.—Book-keeping.
. [Time allowed—three hours.]

S 6% 1, Name the most imgsbant books nsed 1 book
‘- 2 Distinguish between “p

h
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: ‘8. I haveaccount with agents in London and Bombay.
My London agent advises me that he has drawn a bill for £ 1
on my Bombay agent on my account. Do I make any entry m
my journal ? If so, give it.

4. On the 31st December 1893 the condition of my aﬁ‘aurs
was as follows :—1I had goods to the value of £ 250, £120 in
Bank, £ 10-10 in my office safe. I owed ¢ £14-19-6, D £ 58-
10-6, Efll510 £ 100, G £ 128.0-1. Aowedme£28-10 B
owed me £28-10. Was I solvent or insolvent and to what extent ?

5. Transactions of J. Walter during January 1894, — :

Balances on 1st Instunt.

Business premises §os «. Rs. 10,000
Goods o e Vi o gy D DO
Cagh in hand ... aes Vv s i 500

» B!mk e e ves e 2,000
Due by J. Smith i 5 e 100
Due by T. Brown A, dhe Y 50
Dﬂe tO R- RObel‘tS wes den o » 75

Detail of Goods.

Fifty dozens Port witie, at Rs. 60 ... o R, 2,500
Forty dozeus Brandy, at Rs. 75 et ohbest U )
Transactions.
1st. Sold for cash 5 dozens Port, at Rs. 55 L e

. 8id, Bought of B & Co. 4 dozens Sherry at Rs. 30 oot A S O
4th, Trade expenses—Salaries RN 150

Paid R. Roberts in cash ors Soga 75
Sth. Sold J. Smith 5 dozens Brandy, at Rs. 80 . g 400
6th. {Tra.de expenses— Rent 4 A L
Taxes - ... v e 25
7th, Drew from bank for private expenses B 1)
Bth. Received from J. Smith cheque which T sent :
to bank ¥ b s 500
10th. Trade expensu——postage stamps .. i 20
Bﬁh Bonght 15 dozens Sherry, at Rs. 30 for which
I - I paid by cheque... - vos oy S
ks ll* Ak Co purchased — ,
: 10 dozens Sherry, at Rs. 35 .., sos i wIODR
Y0 47, Porbiat ' 5 8T . e 570
10 » andy, ‘t » 78 s . 7% ‘_‘
. Co. paid into Bank to my credit 1,700
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Mnmﬁm—(aoatimcd.)‘ : A ookt B
17tk T. Brown paid me in cash o PO | gty
18th. Sold to B & Co. 20 dozens Port, at Bn. 55 e mo 1,100
20th, Bought for cash 10,000 clga.rs, at Rs. 10

per thousand ... Wil 100
2lst. Sold for cash 10 dozens Port wine, at Rs. 52... » 520
Sent to Bank » 1,000
Sold by auction 10000 cigars buught on 20th
‘99nd. - which turned out to be moth-eaten and
23nd. which realised ... O 12
Auctioneer’s commission paid by we W Yid
93rd. - Drew from Bank—private expeunses T4 100
Trade expenses—gharry hire ... S $5o0
24th. Ditto Postage stamps,.. it 920
25th. Received from B & Co. cheque, which I sent |
to bank b em R 00S
26th. Sold for cash 35 dozens Port, at Rs. 52 1+ o » 1,820
h Sold for cash 9 dozens Sherry @ Rs, 31 110 279
27t {Seut to bank v gy 2,000
20th. Sold for cash 20 dozens Braudy @ Rs. 76 ... 4 - 1,620
80th. Sent to bank voukt Uit A OO
Purchased of C. & Co.—
40 dozens Port @ Rs. 50 ey 2,000
31st.4 90 dozens Brandy @ Rs. 756 e e L 1000
Seut to Bank g 500

Less 36, Net Capital 17 839,

Post the above transactions by single entry in Day-book,
Invoice-book, Cash-book, Bank account, Goods account aud
geveral ledger accounts and compare J. Walter's posmon at the
end of the month with his position at the beginning of  it.

6. Explain briefly :—

1. Discount. 4. Invoice. S5
2. Bill of lading. 5. Account Sa.lg.\
3. Personal & impersonal accounts. 6. Bill of exchange.
1895, e
I.— Arithmetic.

[Time allowed—4 hours.]

1. Reduce } toa circulating decimal, and /Aence show th:&‘

?, 3 4 8, § ave circulating decimals canmstmg of the same
h lgxu m the same eyclical order, !

e 2. Exmphfy e é:——fi i__g__lb_"}
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3. Find the valueof :— -l—giof 8% annas, NS
& 4 Calculabe to five places of decxmals the square’ root of
‘14 (067)%

5. Fmd the side of a cube which oontams 18 cubic feet
‘and 1664 cubic inches.

6. The English sovereign weighs 123'274 grains, of which
"eleven-twelfths is pure gold and the remainder are alloy, the
value of which may be neglected. What is the weight of the
French Napoleon, which consists of nine-tenths of pure -gold,
“and which is worth 15s, 10d. ?

i 7. - What was the last year in which there were five Sun-
‘days in February ?

f 8. What prmcnpal will amount to Rs. 2,338-2 ans, in
3 years at 24 per cent. per annum, simple interest ?

9. Interest being payable half-yearly, find the Compound
Interest on Rs. 50,000 for two years at 4 per cent. per annum,

10. A father dies leaving £27,600 among 3 sons and &5
‘ daughters. Each son is to receive one-third more than the eldest
‘ daughter and she is to receive £200 more than either of her
* younger sisters. How much did each receive ?

0 11.. A person wishes to paper his room with postage-
stamps. - The room is 18 feet long, 16 feet broad, 13 feet high
. and has two doovs and two windows, each 9 feet by 434 feet.
“Find the number of stamps required, each stamp being 4§ inch

Uby 4 inch. 5 i3 i :
12. Reduce 3345 x 3 :%45 : .1654 x 1 654 to valgar frac.
.41 % 4056
tion in its lowest terms.

/ 13. A bankrupt whose liabilities amount to Rs. 37,480 pays
his creditors Rs, 3,265-8 annas in cash, and makes over for their
benefit an undlscounted bill for Rs. 4 784 due three months
 hence. If the bill be discounted at 4 per cent. per annum (true
dmeount), how much will the creditors receive in the rupee ?

B A bill for Rs. 1,841 drawn on July 13th at 3 months is
ducouuted on August lbth at 5 per cent. per annum (3 dayn

grace allowed). How much is got for the bill ? T

15. Fifteen Bank of Bengal shares are sold cut at Rs. 1 ]

| qch and the proceeds remitted to England at 1s. llﬁ,d. ﬁow :
@ pneh stock at 1004% will it buy ? b
i 16 What amount of money must be mveetod in 8‘% %

Govgrnment paper at Rs. 107-5 annas so as. to 1

an ggom Bs. 800 a month nfter paymg meouwtlx
W y
Q ! <

U

gt g
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II.—Mensuration.
Time allowed —2 hours.

1. Having a cord 20 yards long, and wishing to know the
area of a circular reservoir, of which only a portion was
accessible, I found that when the cord was stretched between
two points on its margin, the perpendicular distance from the
midd%: of the cord to the nearest point of the circumference
was 1716 yards. Find the area of the reservoir.

2. Find the cost of painting the inside of a hemispherical
dome, the internal radius of which is 10 feet, at 4 annas a
square yard.

3. A cistern for holding water is in the form of the
frustum of a pyramid : the length and breadth of its rectangu-
lar bottom are 10 and 6 feet, and it measures 15 feet by 9 feet
at the top ; how many gallons of water will it hold, supposing
its depth to be 4 feet 6 inches ?

4. A conical tent is 15 feet in diameter and 12 feet high.
Find the cost of material in it at 34 annas a square foot. .

5. Divide the volume of a cone into three equal parts by
planes drawn parallel to its base.

6. Find the weight of a 14-inch shell made of lead two
inches thick ; the weight of a 13-inch iron shell which is 18 .
inches thick being 1961bs., and a cubic foot of lead being to-a-
cubic foot of iron as 100 to 64.

7. Deduce the prismoidal formula.

8. Find the area in square feet of a plot of ground whose
sides, taken in order, 80, 75, 64 and 81 feet ; the length of the
diagonal opposite the angle contained by the sides 80 and 75
being 95 feet.

III.—Book-keeping.
Time allowed—4 hours.

1 Distinguish between a Balance Sheet and a Trial
Balance.

2, A buys goods of B and pays for them by means of a
bill accepted by C. When B presents the bill it is dishonoured,
What entries are then made in B’s books ?

3. How is the profit or loss on a merchant’s transactions
for a year or any other period ascertained ?

. What is the difference between a Bill of Exchange and

2 Promissory note ?
gl g
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5. Transactions of William Smith during April 1895 :—

Balances on 1st April—

oS O

Rs.
Business premises s 1,00,000
Machinery . e 50,000 =
Fuarniture ... b e 10,000
Goods e 10,000
Sundry debts due to W s e - 7135000
Ditto by WuB. - o son 500
Cash in hand 100
Cash in Bauk . 1,000
Detail of Goods.
50 dozens Brandy at Rs. 50 e 2,600
150 dozens Whiskey at Rs. 50 R 1)
10,000
Transactions.
Rs.
April 1st—Bought 5 dozens Brandy at Rs. 50, for
which paid cheque on Bank 250
1st—Bought 1,000 blankets from A. & Co
at Re. 1 each 1,000
2nd—Sold 20 dozens of beskey at Rs. 55
for cash ... T B i
2nd—Sent to Bank 500
3rd—Paid trade expenses— Rs.
Salaries 500
Postage stamp 20
— 520
3rd—Paid A & Co. for blankets by cheque &
on Bank which they allowed me o
discount Rs. 50 .- 1,000
Jth—DBought 5,000 blankets from A & Co. i3
at Re.1 each 5,000
Jth—Sold 50 dozens of Wluskey at Rs. 55
for cash ... 2,750
Jth—Sold 20 dozens of Brandy at Rs. 56 for
cash e woe. o JLR0
"dth— Bent to Bank 78] 870

5th—Sold 2,000 blankets at Re.1-4 for calh 2,500 ‘

5th—Sent to Bank i e 2,600

oeoéAé

QOOO (= S~ S = hac
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Transactions—(Continued )
April 5th—Paid A & Co. for blankets by cheque

»

»

”»

»

»

»

»

»

”

Post

on Bank on which discount Rs. 250
8th—Paid trade expenses—
Office furniture e
9th—Bought 20 dozens Brandy at Rs. 50
from A. & Co. s oos
10th—Paid trade expenses—
Insurance for the year by cheque ...
10th—Paid sundry debtors outstanding by

cheque ...
11th—Sold 20 dozens of Wh:skey at Rs. 55
for cash ...

11th—Sent to Bank

12th—Drew from Bank for pnvate expenses

_13th—Bought 1,000 umbrellas at Re, 1 for
which pa.xd by cheque...

14th—Sold 50 dozens of Whiskey at Rs. 55
to A & Co..

15th—TFire in warehouse which destroyed
4,000 blankets, loss ...

16th—Received payment on sundry debts A

16th—Sent to Bank

17th—Received cheque from A. & Co. on
which gave discount Rs. 137-8 ...

20th—Received from Insurance Company
on account of destruction of pro-
perty by fire oer

20th—Sent to Bank

23rd —Bought from A & Co. 10 dozens
Brandy at Rs. 50 A

”.Wa—Sold 1,000 umbrellas at Re, 1-2 each
to A & Co . er

27th—~Paid trade expeneee——
Gbarry hire

5,000

50
1,000
3,500
500
1,100
900
500
1,000
2,750
4,000
500
500
9,750
5,000
5,000
500
1,125

2 - D00 © O OFOUL Q.0 0o

&

S © oQ

0 12
30th—Drew from Bank for prlvate expenditure 500 0

L. 990 .0 QOO0 0 Q. 0 " afo

o © © oCo

the above transaction by Single-entry in Day-book,

Invoice-book, Cash and bank account (combined if preferred),
Goods account and Ledger accounts, and compare William
Smith’s position at end of the month with his position at the

begining of it.

6. Explain the meaning of —

Account current, Capital,

©  Assets, Real account,

Bill of sale, Dividend.
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1898,
“ 1.— Arithmetic.

Time allowed—4 hours.

1. Simplify—

g b Lo dslny SRR
- {]- 1___}' } {3( ] 3i) 4}' ;

2
375 + 270
‘125 4 125675

2 What is the value of ’\2/_ {5—’17"'1!"“"31&} ¢

3. Find the five decimal places the value of ——~,g3 T
4, Express ] of £1. 11s. 6d.+'03 of £2. 5s.4.57 of 13s.

: 8d. ~ ¢ of 17s. 8d as a decimal of £1. 12s. 7d.

- 5. The cost of preparing a plot of ground at 2 pies per
. square yard was Rs. 13-8. 'What was the cost of fencing it at
* Rs. 2-6 per yard ?

6. Show that 1 farthing=£.001 4 01d. ‘

7. A bankrupt’s estate amounts to £910-3-1% and his
debts to £1,875. What can he pay in the £, and what will a
‘ereditor lose on £57 ?

8. Three per cent. stock was bought at 91% and held for 7
months, during which two half-yearly dividends were received,
and it was then sold at the same price as it was bought. What
was the rate per cent. per annum obtained on the transaction,
brolzerage being # on sale and purehase ? ,

9. Anowner of property receives £110 per week from
some tenants, £370-4 per month from others, and £780 per

uarter from others. He lays by } of the weekly ree , 75 of

.the monthly and 4, of the quarterly. What will he have saved

.at the end of three years, three months and three weeks ? .

10. An Indian official had to remit England monthly three
fourths of his pay, one-half of which pay he was allowed fto
remit at the rate of 1s. 64. When the rate of exchange fell from |
1s. 23d. to 1s. 2d., the amount received in England was less by
10s. 5d.. What was his pay ? s

11. Find the compound interest on Rs. 14,526-13-6 at 3%
per cent. per annum, ; .
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12, What ig the yearly income derived from investing a
legacy of £ 4,583 1,_0:.y in the 3 per cents, at 91%, allowing for
leiacy duty 5 per cent., brokerage § per cent., and income-tax
bd. in the £ ? i .

13. The earth moves round the sun in 365} days neatly.

Assuming that it moves in a circle of 924 million miles, and
that the circumference of a circle is 3'1416 its diameter. What
is the rate of motion of the earth in feet per second ?
- 14, A train made up of 3 fivst, 4 second, and 5 third-class
carriages travelled 191 miles. The rates per mile were—Ist
class 2}d., 2nd class 1§d., 3rd class 1d. The amount paid by all
passengers was £465-19-23. The number of passengers in each
second-class carriage was 32, in each third-clasg, 48. Find the
number in each first-class carriage.

15. A piece of work can be done in 7 days by 5 boys and
6 men. When they have done fths of it, 2 men leave and 2
more boys come. When will they finish if a man does twice as
much as a boy ?

16. A man bought 2,400 articles. He sold #ths. at a profit
of 12} per cent., 2th at a profit of 15 per cent., and the remain-
der at cost price. If he had sold at a profit of 10 per cent., he
would have gained £47 5s. less. What did the articles cost him ?

I1.--Mensuration.
Time allowed—2 hours.

1. A ton of timber being equal to 50 cubic feet, how
many pieces of wood 1 foot long by 1 inch square in section
would be required to make up an order of two tons ?

2. What is the weight of a cylindrical iron boiler #ths of
an inch in thickness, whose mean radius is 4 feet and length 7
feet, nt‘)l;e?ends being hemispherical, if a cubic foot of iron weighs
480 ths. '

3. A cubical ivon tank has to hold 27,000 gallons of water.
- What size should it be ? b
4, What will be the cost of 900 feet in length of cast-iron
- piping, 13"/ mean radius and 4" thick, at Rs. 10 per cwt, if
. cast-iron weighs 440 Ibs, per cuabic foot ? .

5. A punkah 12 feet long and 1 foot in depth swings
hrough 15° on either side of the vertical. If the length of the
. rope is 10 feet, what volume of air, in cabic feet, is displaced
4 during this swing ? - e
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L 6. What is the radius of the base of a cone, whose altrtude
is 8 feet, and which holds 450 1bs. of powder, a pound of
powder occupying 30 cubic inches ? i

7. A B Cisacone whose altitude A4 D is 4 inches, the
diameter of its base B Cis 6 inches, dnd a cylinder E F G His
inscribéd in it. The convex surface of the cylinder is one-fourth
that of the cone. Find the dimensions of the cylinder.

8. The curved surface of a hemisphere being 157'08 square
feet, find the area and the circumference of its base. .

ITI.— Book-keeping.
Time allowed—4 hours,
1. Name%he most important books used in Book- -keeping.
2, What is a stock book ? Give a description of it, and
state its uses.
3. Describe the process of balaucing and closing a set of
books by Double Entry.
4. 1havean account in the Bank of Bengal, and my
transactions during April 1896 were as follows :— Rs.

1st.—Balance at credit 300

3rd.—Cheque in favour of Self 100

5th.—Sent to Bank v 1,000

6¢h.—Cheque in favour of B v oy 200

8th.—Sent to Bank 300

9th.—Clieque in favour of self 500

10th.,— Ditto of i0sss i 400

15th.—Sent to Bank 300

20th.—Cheque in favour of D. 500

81st,—Sent to Bank .. 1,000
Cheque in favour of Z ... 260 °

4 % ¥ 700

2 » ¢ . i 115

» » H . - 40

K - 100

When my paes-book came back from the Ba.nk in May, I
found that my cheques in favour of E, @, and K were not
resented during April. Give closing balance on 30th April ds

ger counterfoil of my cheque-book and Bank pass-book respec-
tively. If all the cheques had been presented, what wmﬂd havn
been the result ? 7 ] .‘

5, Define— : .

! Comm:enon. Account BMM.
‘Dividend. Acco ujb fﬁlﬂ&
Bill-of-exchange, 88
Bﬂl of-lading.
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6. On lst January 1896 the books of W. Thomas
with the following ba.lches - op‘

Cash in hand ... vhe b SOORY
" at Bank e e e 1,000"
Goods «+» o e 10,000
Business premises... e 40,000
Furniture e 5,000
Due to W, 7. by 4 v W
Ditto by B 8t i o 300
Ditto by C v R
Due by W. 7. to D 100
Ditto to & e 150
Ditto to I 200
Detail of Goods.
Whiskey, 100 dozens, at Rs. 30 o 3,000
Brandy, 140 dozens, at Rs. 50 v 7,000
Total ... 10,000
- ————e
Transactions.
15t January.—Sold A 10 dozens whiskey at Rs. 32... 320
1st % Sold B 5 dozens whiskey, at Rs. 32 . 160
3rd Sold for cash 20 dozs. whxskey, at Rs.32 640
3rd » Sent to Bank .. e 640
ath Trade expenses, salaries .. soel - D008
ath Ditto taxes e
DIk Bought from & 20 dozs. w}uskey at Rs.30 600
Bth A paid me his debt in cash et i
5th Sent to Bank .
Ot 5 Sold for cash 10 dozs. brandy, at Rs, 55
8y, B paid me his debt by cheque e
Sl < 4 1 paid D by cheque my debt to him ...
wh Purchased furniture by cheque ..
10t~ Sold for cash 20 dozs. brandy, at Rs. 55
10tk o, Sent to Bank . v
¥k, Paid £ my debt to him by cheque
13th C paid his debt to me in cash se

13tk Sent to Bank ...

14th o Paid @ by cheque for whmkey botgﬂ
e on 5th 60

14tk Sold for cash 60 dozs. brludy, at Rs, 55‘ 3,30

W4th Sent to Bank .., o G,‘{
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16tk
17th
17th
18tk

20th

- Qugsg's Guibs, [Accrr.
tions (Continued.) i g :
15th January.—Paid F' my debt to him cheque ... 200
16th Sold for cash 30 dozs.of w mkey,at Rs.32 960
% Sent to Bank ... oee 1060
¥ Sold for cash 20 dozs. of brandy,at Rs.55 1,100
5 Sent te Bank ... vaa iy 100
5 Drew from Bank for persons.l expenses 1,000
5 Trade expenses, petty ... o 15

21st

23rd
23rd
24th
25th
26th
26th
27th
20th

30th
30th
30tk

»
»
»
»
»
»
”»
»
”»

»
»
»

Sold 4 5 dozs. of whiskey, at Rs. 3,0 160
Sold B 5 dozs. of whiskey, at Rs. 32... 160
Sold B 5 dozs. of brandy, at Rs. 55 ... 275

Sold for cash 2dozs, of whiskey,at Rs.32 64

. Sold for cash 4 dozs. of whiskey,at Rs.32 128

Sold to € 5 dozs, of whiskey, at Rs. 32 160

Sent to Bank ., 200

Drew from Bank for personal expenses 500
Bou ht 10 dozens of whiskey, at Rs. 30,
10 dozens of brandy, at Rs. bO,

for which paid by cheque 800

Sold for cash 15 dozs.of whxskey at Rs. 32 480

Ditto 15 dozens of brandy, at Rs. b5 = 825

Sent to Bank .. e 825

. Depreciation on furniture, 10 per cent per annum on
balance on hand on 1st January.

- Post the above tramsactions in day-book, invoice-book,

cash-book, and Bank account, and several ledger accounts ; and
W. Thomas’ position at the end of the month with his
position at the beginning of it.

compare

1, Simplify—

£
e

;, .mm‘u a deexml to 6 plam

1897.
I.—Arithmetic.

Time allowed—4 hours.

A-ixd %
 FEE o -GofH-DT  9-15
. 2. Find to 5 decimal places the square root of the gmn ‘b!
’74.!270 and 741739,

Whﬁtutgggumpilq- + + +

3 3 3‘

Lhofi+gofs ‘5"“-\,"
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3 74. What is the value of 36 of ‘954 = of '428571 of 180
6d. :

5. Find by Practice the cost of 40 cwt. 2 qrs, 24 1bs. at
£4 12s. 9d. per cwt.

6. The time of swing of a pendulum varies as the square
root of its length, and a pendulum which swings once in &
second is 39'1393 inches long. Find the length of one .which
swings 81 times a minute. A

7. How much cloth 4 feet wide at 3s. per sq. foot must ‘be
given in exchange for 3937 metres of French silk, § of a yard
wide at 4 francs per square metre ; £1 being worth 2515 francs
and 1 metre equals 39:37 inches ?

8. What will be the difference in the incomes obtained by
investing Rs. 17,364-12-6 (1) in Government 3% per cents, at
Rs. 103-12, (2) in 5 per cent. Calcutta Municipal Debentures at
110, the usual brokerage being charged ?

9. Find the cost of remitting to England £2,487 6s. 8d.
when the rupee is at 1s. 233d.

10. A merchant buys 440 tons of coal. By selling the
whole at 17s. 63d. per ton he would make 5} per cent. profit.
He sells 300 tons at that rate, and the remainder at a rate
which makes his profits on the whole 5 per cent. Find (1)
what he paid for the coal, (2) at what rate he sold the second
lot. '

11. Find the compound interest for 3 years on Rs. 34,265-12
at 3} per cent. .

12. A bill of £1,231 17s. 6d. drawn on the 8th of April at
9 months is discounted on the 4th of June at 3} per cent, Find
the banker’s discount.

13 A4, B and C rent a farm for £ 54. A4 pnts 200 sheep
on it, B 150 and ('100. After 6 montha A4 sells § of his flock
to C, and 3 months later B sells § of his to 4, How much rent
should each pay at the end of the year ?

14. Two clocks are right at 12 noon on Monday. One gains
2 minutes in 24 hours and the other loses 5 minutes in 48 hours.
‘What is the time by the second clock when the first reads 3 p. M.
on Friday ? : :

15. Find the present value of £3215 1€s. 8d. due 4} years
hence, interest being 3 per cent. &

16. A person buys £10,000 stock in the 2§ per cents. at 80,
How much must he sell in order that after re-investment of the
the proceeds in 4 per cénts. at 120, his income may be £12 10s.
greater ? - :
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I1.—Mensuration.
Time allowed—2 hours.

1. What will be the cost of 38 pieces of wood, each 83’
long, and 2" by 2 in section, at Rs. 90 per ton of 50 cubic feet ?

2. A cylindrical copper tank is 2’ 6”” in diameter and 1’ 6”
high. How many cubic inches of water will it contain ?

3. Fifty thousand tons of water is contained in a full drain
9 deed, 2’ wide at the bottom and 3’ wide at the top. Assuming
that 1 cubic foot of water weighs 60 Ths., what is the length

* of the drain

4. An arch of 20’ radius and 30’ span rests on two walls
20’ high. The archway is closed by a wall 2’ thick. =~ What is
the volume of the material in the wall ?

5. A square field hasan area of 160 acres, what is the
length of its side ?

6. What will be the cost of turfing a plot of ground A B
CD Eat Re. 1 per 100 square feet, if A B=90’, B C=90,

"AD=CD=150,DE=90',and BD=E A =120"?

7. Enunciate Simpson’s rule for finding areas, and apply
it to find the area enclosed between a straight line and a curve
having ordinates 0, 20, 32, 36, 32, 20, 0 feet at a common dis-

. tance of 2 feet.

% 8. Fiund the price of a cylindrical boiler with flat ends,
sold as scrap-iron at Rs. 75 per ton. TLength 10" over all,
outside diameter 6', thickness of plate }”. Assume that 1 cubie
foot of iron weighs 480 Ibs.

IT1.—Book-keeping.

Time allowed —4 hours,

S i

1. Under what heads may the property of peisons in
business be comprised ?

2. Give the respective advantages of book-kee ihg by
single and double entry. g

3. On the 31st December 1896, the condition of my affairs
was as follows :— :

R‘u v
Goods in hand oS i i BI00Q 4
Cash at Bank Sop e 2,000

”» M’. Oﬁce -~ en e m
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. Rs. A P
ITowed A ... [ w 1,600 0 O
: B .. 2000 0 0O
e e 000 QY
-l » JEn o Y00 -GS
E owed me ... ovs | B 18' 8
Py . 2,060°0 0
TP v 1,025° 5 3
- wee 099 Orelgp
Iowed K ... ves 8,000-:0"0
I oo 1,608 -l
w M ' e 402 /8%
N w. 1,574 6 B
R o e 5007 050
e 494 97Y

Was I solvent or msolveut and by how much ?

4. Explain—
iscount. Bill-of-lading.
Profit, Account sale.
Balance of an accout. Letter-of-credit. &
s!
5. Transactions of E. Howard :—
1st January 1897.—Cash in Bank vee - 23,000 -

,» at office P =
Goods— Whiskey 100 dozen Rs. 30 ... 3,000

Rs.

Premises ... 45,000 . :
F:z.l:ilts::e 5, '000 ; Value of premises and furniture 5,0000

50,000
Debts due by Smith ... PRGN -1
; P Brown ... ooni OG0
ol i Jones ... oon. T 900
Debts due to Robinson e 800
= Taylor ... w500
. Carter .., v 500
1st January 1897.—Sold 5 dozen of whiskey to Smith at _
8 Re. 32 .., vog O
RBij=: 5
Trade expenses paid by cheque :— i
N e Salaries = ... voi - 3 XBON Sam
‘Taxes § year wa 250
Gharry hire ses 3
- Postage stamps ose 90

:433
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T'ransactions—(continued.)

3rd

~

4tk
bth

n

»

”

: Rs.
2nd January 1897.—Bought 50 dozen of whiskey at Rs. 30
for which paid cheque «.. 1,600
Paid Robinson by cheque v, 900
Smith paid me cash ... 500
Sold 10 dozen whiskey at Rs. 31,
for cash ... 31p
Sold Smith 10 dozen whlskey atRs32 320
Sent to Bauk 800

6th
Tth
8th

Oth
10¢4

11tk
12tk
13th
14th
156tk

”»

o»

”

”»
”»

»

Paid trade expenses, postage sta.mpa 20
Bought 100 dozen of whiskey at

Rs. 30 for which paid by cheque... 3,000
Sold Smith 20 dozen of whiskey. ab

Rs. 32 .. 640
Sold for cash 30 dozen of whlskey

at Rs 31 ... iva " 0G0
Sent to Bank e 900
Jones paid me cash ... e 0
Paid Taylor cash e sk 500
Paid trade expenses, sundries 200

Bought 50 dozen of whiskey at Rs.
30, for which paid by cheque < 1,500
Brown paid me by cheque which

sent to Bank 600
Bought 20 dozen of whmkey at

Rs. 30 for cash 600
Sold 100 dozen of wluskey at Rs. 32

to Smith ... < 3,200
Paid trade expenses, petty ok 10
Paid Carter by cheque 500
Bought 200 dozen whiskey at Rs. 30

from Taylor 6,000

Bought 400 dozen of whlskey at
Rs. 30, for which paid bytheque 12,000
Sold 100 dozen whlskey at_Rs. 31,

for cash ... e 3,100
Sent to Bank e 3,100
Sold 150 dozen whukey at Rs, 31

forcash ... i o 4,650
Sent to Bank .. 4,660

Bought 400 dozen of whnkey at
Bl 30, for which paid by chaqne 12,000

S
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Transactions—(continued,) } &
25tk P Sold 200 dozen of whmkey to Smxﬁh
: at Rs. 32 . %

26th 4 i Sold 200 dozen of w!mkey to
: Robinson at Rs. 32 ... 6,400
. Post the above in Cash-Book, Bank-book, Da.y-book,-
Invoice-book, Ledger and Goods acoonnr., and compareE H.s
sition at the end of the month with his position at the
g: ginning of*it. Depreciation on furniture at the rate of 10
per cent. per annum, -
" 8. Distinguish between a balance sheet and a trial balance.

. 1898.
‘ Time allowed—4 hours.
1. Simplify—
(@ Ty +6 + Ayt lﬁ-‘.
- (2,’16 of 19) 4% of fy
(b) 90 % ‘84663

461538 x 83
2. Find the value of — 57— 188 of £9-16s-7d.

('517)% ~ ("123)*

3, Multiply correctly to 5 significant figures 571013 bLy -
'067412 and expresslé?—fg%é as a decimal to 4 places. These"
should be worked out by contracted multiplication and division,

4. Find the value of ‘375 of a guinea and .54 of 8s 3d. 4

027 of £2-15s. — 775 of 'bs.
5. Find the square root of 105382089129 and the cube

Yoot of 558254956904,
5. By practice find the cost of 254 tons 15 cwt. 12 ths. of
coal at Rs. 9-6ans. per ton together with delivering chhrgu

of 8 annas 6 pies per ton.

-~ "' @, A train starting at 6:35 p.m. travels 863 kilometres
and arrives ab 9-15 the next morning. Given that a kllomm
is equal to 71 mches, fiud the average speed of the train in

mxle‘ per hou R TR
YA tram stnrhng at 6-35 p. . travels 863 kilometres

'and arrives at 9-15 the next morning. Given that a kilometre

s squll 39371 inches, and the average speed of the tr.in m i
er hour. A

What sum of money must be put out at Sfxp e, m

w amonnt to 5248-13: ﬂd.,in 2% years ? 1 m?:_.,

i






